AP AUVSX ouT N GROSS  HDCP NET

1% s LA =D 38/ 41 79] 12.0] 67.0
gy HP H— 39 40 19 1.0 72.0
e EA B2 4340, | 83 8.0 75.0
i RE BE= 43 41 84 8.0 76.0
ofiL (FEl —1E 38 39 /7 1.0 76.0
6L EfEl JEm 47 42 89 12.0 7/7.0
i BH FEit 46| 42 88/ 11.0, 77.0
8 KB IERE 42| 45 87 10.0 77.0
Ot ER E—BAR 39/46 80 8.0 /7.0
106 B & 44 44 88 10.0 /8.0
146 (FFIE AN 42 46 | 88 10.0 78.0
1252 BRIl &I 39 49 | 88 10.0 78.0
136 =8F FE2 47 42 89/ 10.0 79.0
1446 & iz 46| 44 90| 11.0 79.0
156 ™A FR 42| 40 82 3.0 79.0




B BYUIR ouT IN GROSS  HDCP NET
B 5 BH B 43/ 45 | 88] 19.0] 69.0
HEEH AR AOR 44 44 88 18.0 70.0
3 Fi FA 50 500 100| 30.0/ 70.0
A FNlE  F|A 4144 85 14.0/ 71.0
ol A TE 49 41 90 18.0/ 72.0
6fi Bt 1E3E 47| 44 91 19.0 72.0
M & B 46/ 430 | 89 17.0 72.0
L 54 53 107 34.0 73.0
O HH E 5256/ 1108 35.0 73.0
10 | & BN 46 50 | 96 22.0 74.0
11450 PR B 49 46 95 20.0 75.0
1260 |KH  F0M8 44 46 | 90 15.0 75.0
13650 #2;8  fill 47 51 98 23.0 75.0
1460 (7T IE— 51 44 | 95 19.0 76.0
1511 E BB 49 45 94 18.0/ 76.0




A#H#H LTF14—R ouT N GROSS  HDCP NET

= B e =Y 45| 40 85/ 18.0 67.0
B THF LS 45| 41 86/ 16.0 70.0
M B BEH 43 39 82 10.0/ 72.0
M & F 1 41 37 78 6.0/ 72.0
ofi #iE E&F 37| 44 811 7.0/ 74.0
6z WA FOR 43 37 80/ 5.0/ 75.0
15 | P9+ 52| 47 99| 23.0 76.0
8fii KH HIE 46 44 90 14.0 76.0
O AR K BHE 42 43 8 9.0 /6.0
105 &% F M 43 46 89 13.0 76.0
142 IR 49| 46 95 18.0 77.0
1261 56/ 55/ 111 34.01 77.0
13y /A 51 48 99| 21.0 78.0
AL 85K 5149/ 100/ 22.0 78.0
156 BB = 41| 43 84 5.0 79.0




